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1. NO CALCULATOR. Let R be the shaded region enclosed by the graphs of y = Jx , y=2,
and the y-axis as shown in the figure below. Find the area of region R.
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2. NO CALCULATOR. Let R be the shaded region enclosed by the graphs of x = y*, x = »?
and the x-axis as shown in the figure below. Find the area of region R.
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3. NO CALCULATOR. Let R be the shaded region enclosed by the graphs of y = x?,
x+y =2, and the x-axis as shown in the figure below. Find the area of region R.
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4. NO CALCULATOR. Let R be the shaded region enclosed by the graphs of y = T3 and
x* +
y = x as shown in the figure below. Find the area of regionR. &
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Note: the graphs intersect at (1,1) ~ RO
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5. CALCULATOR PERMITTED. Let R be the shaded region enclosed by the graphs of

x=2y? =2y andx =12y* —12y"° as shown in the figure below. Find the area of region R.
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(If you are up for an extreme arithmetic challenge, try to find the answer to #5 without a calculator)

n I
F] :J/:g[(zgl-lfa>*(Ilaz-—[lf)]A‘} "'![[I?.JzyllUE)‘_(zal_ Z%ﬂcjg o 17y

12496

© !
A:_TEE{:(%)—@(%)]JE{ +Bf[a[3)—{-‘(b)}cj% - 174/

Jratb
6. CALCULATOR REQUIRED Let R be the shaded region in the first quadrant enclosed by the

graphs of x = /—In(y/8) and f(x)=2+cos(Bx—x/2) as shown in the figure below. Find the

area of region R. Hint: You must perform preliminary work before using your calculator,
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